Sociology 3 Critical Thinking
Note: Before you begin this paper, be sure to read chapter 2 in Public Opinion on Social Issues (see reading list).
Instructions for Paper 1—Confidence in Institutions (40 points max)
The first paper will use data from the 2010 General Social Survey (GSS) which is a national probability sample of adults (18 years and older) living in the continental United States. In this paper we are going to focus on how much confidence Americans have in the institutions of their society looking at the following institutions – the executive branch of the federal government, congress, the military, big business, organized labor and the scientific community. The data have already been weighted to better represent the population of all adults in the United States during this time period. The name of the data file is gss10_subset_for_classes.sav. Information about the 2010 General Social Survey can be found at http://www.norc.uchicago.edu/GSS+Website/. 
Part 1. Exploring how much confidence people have in their societal institutions
The GSS asks the following question to measure confidence in societal institutions – “I am going to name some institutions in this country. As far as the people running these institutions are concerned, would you say you have a great deal of confidence, only some confidence, or hardly any confidence at all in them?” We’re only looking at some of the institutions asked about in the survey. These include the following:
· Executive branch of the federal government (CONFED)
· Congress CONLEGIS)
· Military (CONARMY)
· Major companies (CONBUS)
· Organized labor (CONLABOR)
· Scientific community (CONSCI)
Survey research depends on what people are willing to tell us. It’s possible that some people are only telling us what they think we want to hear. Even given this limitation we can use the results of this survey to tell us a lot about how people feel about the institutions of their society.
Run frequency distributions (use Descriptive Statistics/Frequencies under Analyze in SPSS) for these six variables. (The variable names are in all capitals in parentheses above.)
Look at the “percent” column in the frequency distribution. Notice that most people select one of the three options – a great deal, only some, or hardly any. But some people say they don’t know (DK) or refuse (NA) to answer the question. Still others are coded as IAP which means not applicable. Not applicable means that they weren’t asked the question. Responses that are coded DK, NA or IAP are called missing information because we don’t know how these respondents feel about that institution (i.e., the information is missing).
Now look at the column labeled “valid percent.” Notice that DK, NA and IAP don’t show up in the valid percent column. The reason is that these answers have been defined as missing values. The valid percent column takes the missing values out of the base. The variable CONARMY has 1,360 answers with valid information (i.e., great deal, only some, hardly any) and 684 answers with missing information (i.e., DK, NA, IAP). Now recompute the percents using 1,360 as the base or denominator. You should get the percents in the “valid percents” column. For example,
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54.3 % of the 1360 respondents with valid information said they have a great deal of respect for the military.
Now do the same computations for CONBUS. Show your calculations. Part 2. Comparing confidence in societal institutions
In Part 1 you ran the frequency distributions for the six CON variables we are looking at in this paper. Create a table using Tables in Word that shows what percent of respondents said they had a great deal of confidence, only some, and hardly any in each of these six institutions. Be sure to use the valid percents. We’ll discuss how to create a table in Word in class.
Which institutions do people have more confidence in and which do they have less confidence in? Use the percents from the table you created in Word in your answer. Why do you think people have more confidence in some of these institutions and less in others?
Part 3. Your dependent variables
The dependent variable is what you want to explain. In this exercise, we’re trying to explain why some people have more confidence in their societal institutions and others have less confidence. We will be using several different institutions in this paper. You don’t have to write anything in this section. Just be aware that your dependent variable will always be confidence in one of the societal institutions.
Part 4. Choosing your independent variables
The independent variable is what you think will help explain the variation in your dependent variable. Let’s list some of the variables that might help us explain why some people have more confidence in these institutions than others. Here are some possibilities. This is not an exhaustive list.
· Political factors such as political party identification (i.e., Republican, Democrat, Independent)
· Socioeconomic factors
· Household income
· Education
· Perceived social class
· Satisfaction with current financial situation
· Whether respondents think their financial situation has improved in the last several years
· Age
· Race
· Gender
· Marital status
· Region of country in which people live
· Religious factors
· Religious preference
· How often attend religious services
· How often pray
· How important religion is in one’s life
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Think about how and why these variables might be related to how much confidence people have in societal institutions. You don’t have to write anything here; just think about it.
Part 5. Political Party Identification
Let’s start with political party identification (i.e., Democrat, Independent and Republican). Respondents indicated the political party they identified with. What would our hypothesis look like? Remember that the hypothesis specifies the relationship that we expect to find between party identification and how much confidence people have in various societal institutions.
Democrats are more likely to have a great deal of confidence in the Executive Branch while Republicans are more likely to have hardly any confidence.
We need to provide support for our hypothesis. What would our argument look like?
People who identify with the party that controls the presidency (i.e., Executive Branch) are more likely to have confidence in that branch of government because people tend to support their own political party. Currently the Democrats control the presidency. Therefore, Democrats are more likely to have a great deal of confidence in the Executive Branch while Republicans are more likely to have hardly any confidence.
What should the data look like if our hypothesis is correct? Let’s construct a dummy table showing what the table should look like assuming the hypothesis to be true.
	Confidence in 
Executive Branch
	Democrat
	Independent
	Republican

	Great deal
	A>
	 
	B

	Some
	 
	 
	 

	Hardly any
	C<
	 
	D


Notice that the cells under Independent are left blank. This is because the hypothesis doesn’t make any comparisons relative to Independents.
Now you need to run the table in SPSS showing the actual relationship between political party identification and how much confidence respondents have in the Executive Branch. In SPSS go to Analyze/Descriptive Statistics/Crosstabs. Be sure to put your independent variable (PARTYIDR) in the column, your dependent variable (CONFED) in the row, and get the correct percentages (column). Copy this table from SPSS to your Word document.
Note that variables that end in ”R” such as PARTYIDR are recoded variables. So PARTYIDR is the recoded variable and PARTYID is the unrecoded variable. Look at the codebook on BlackBoard under Assignments/Paper 1 to see the difference between PARTYIDR and PARTYID.
Finally, interpret the table which means to summarize the results and explain whether or not the hypothesis was supported. Use the percents from your table to help you interpret the table. Remember that you don’t want to make too much out of small percent differences because it could just be sampling error. Let’s use the five percent rule. If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it. Make sure that you compare your percents in the opposite direction to
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the way they sum to 100. If you have set your table up correctly, your percents should sum down to 100 and you should compare the percents across. Try to write two sentences to interpret the table. The first sentence should summarize the pattern of the percents. The second sentence should use the percents to illustrate the pattern. Then you should write a third sentence indicating whether the data support your hypothesis.
Finally, let’s look at the Independents. Our hypothesis didn’t say anything about Independents but it is still interesting to compare them to Republicans and Democrats. Are the Independents closer to Democrats or closer to Republicans in their confidence in the Executive Branch? Be sure to cite the percents in your answer.
Part 6. Socioeconomic Status
Now let’s look at the relationship between socioeconomic status and how much confidence people have in societal institutions. Socioeconomic status is a concept and must be conceptually defined. Dictionary.com defines socioeconomic status as an “individual's or group's position within a hierarchical social structure. Socioeconomic status depends on a combination of variables, including occupation, education, income, wealth, and place of residence. Sociologists often use socioeconomic status as a means of predicting behavior.”
Socioeconomic status also must be measured. Several commonly used measures are family income, education and perceived social class. In this part of the paper, we’re going to use family income as our measure of socioeconomic status.
Again, let’s start with the hypothesis.
Those with higher family incomes are more likely to have confidence in big business and those with lower family incomes are less likely to have confidence in big business.
Why should this be the case? What’s the argument to support our hypothesis?
Those with higher family incomes are more likely to be politically conservative. Those who are politically conservative are more likely to have confidence in big business. Therefore, those with higher family incomes are more likely to have confidence in big business.
What should the data look like if our hypothesis is correct? Let’s construct another dummy table showing what the table should look like assuming the hypothesis to be true.
	Confidence in Big Business
	Under $20K
	$20K to under $50K
	$50K to under $90K
	$90K and 
over

	Great deal
	A<
	B<
	C<
	D

	Some
	 
	 
	 
	 

	Hardly any
	E>
	F>
	G>
	H


Now you need to run the table in SPSS showing the actual relationship between family income (INCOME06R) and how much confidence people have in big business (CONBUS). Note that INCOME06R is a recoded variable. INCOME06 and INCOME06R are two
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different variables. INCOME06R is the recoded variable and INCOME06 is the unrecoded variable. In SPSS go to Analyze/Descriptive Statistics/Crosstabs. Be sure to put your independent variable (INCOME06R) in the column, your dependent variable (CONBUS) in the row, and get the correct percentages (column). Copy this table from SPSS to your Word document.
Finally, interpret the table which means to summarize the results and explain whether or not the hypothesis was supported. Use the percents from your table to help you interpret the table. Remember that you don’t want to make too much out of small percent differences because it could just be sampling error. Let’s use the five percent rule. If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it. Make sure that you compare your percents in the opposite direction to the way they sum to 100. If you have set your table up correctly, your percents should sum down to 100 and you should compare the percents across. Try to write two sentences to interpret the table. The first sentence should summarize the pattern of the percents. The second sentence should use the percents to illustrate the pattern. Then you should write a third sentence indicating whether the data support your hypothesis.
Part 7. Religiosity
We talked about religiosity in class. Religiosity refers to the strength of a person’s attachment to their religious preference while religious preference refers to the religion that a person identifies with or for which they have a preference. We’re going to use ATTENDR as our measure of religiosity. ATTENDR refers to how often a person attends worship services. ATTENDR is a recoded variable. In this part of the paper we’re going to focus on another social institution – the scientific community. How do you think religiosity (ATTENDR) is related to how much confidence people have in the scientific community (CONSCI)?
Here’s what you should do in this section.
1. State your hypothesis indicating what you think the relationship will be between religiosity and how much confidence people have in the scientific community. A hypothesis should be only one sentence. Remember that clarity is essential. Look at the examples in parts 5 and 6.
2. Construct an argument that supports your hypothesis. Remember that your hypothesis will be the conclusion to your argument. For the argument, underline the final conclusion (i.e., your hypothesis) and circle all inference indicators. Do not circle anything that is not an inference indicator (e.g., “and”). Bracket and number all claims. Draw a diagram (using numbers and arrows) for your argument that is similar to what we did in class.
3. Construct a dummy table showing what the table should look like if the hypothesis is correct. Use “Tables” in Word to construct the dummy table. See the examples earlier in this paper assignment for sample dummy tables.
4. Use SPSS to produce the two-variable crosstab for your hypothesis. Remember to put the independent variable in the column, the dependent variable in the row, and to request the appropriate percents (column) for your table.
5. Interpret the table which means to summarize the results and explain whether or not the hypothesis was supported. Use the percents from your table to help you interpret the table. Remember that you don’t want to make too much out of small percent differences because it could just be sampling error. Let’s use the five percent rule. If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it. Make sure that you compare your percents in the opposite direction to the way they sum to 100. If you have set your table up correctly, your percents should sum
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down to 100 and you should compare the percents across. Try to write two sentences to interpret the table. The first sentence should summarize the pattern of the percents. The second sentence should use the percents to illustrate the pattern. Then you should write a third sentence indicating whether the data support your hypothesis.
Part 8. Individual Characteristics
We know that variables such as gender, age, marital status and education influence behavior and attitudes. In this section we’re going to focus on two of these variables and go through the same steps as you did in part 7. The variables we’re going to use are gender (SEX) and age (AGE2). Age2 is a recoded variable. There are two recoded variables for AGE (i.e., the unrecoded variable). One is AGE1 and the other is AGE2. We’re using AGE2 in this paper. We’re going to use confidence in the scientific community (CONSCI) in this part of the paper just as we did in Part 7.
Here are the steps you will go through in this section. They are exactly the same as in part 7.
1. State your hypotheses indicating what you think the relationship will be between these two variables and how much confidence people have in the scientific community. A hypothesis should be only one sentence. Remember that clarity is essential. Look at the examples in parts 4 and 5.
2. Construct arguments that support your hypotheses. Remember that your hypothesis will be the conclusion to your argument. For each argument, underline the final conclusion (i.e., your hypothesis) and circle all inference indicators. Do not circle anything that is not an inference indicator (e.g., “and”). Bracket and number all claims. Draw a diagram (using numbers and arrows) for your argument that is similar to what we did in class.
3. Construct dummy tables showing what the tables should look like if the hypotheses are correct. Use “Tables” in Word to construct the dummy tables. See the examples earlier in this paper assignment for sample dummy tables.
4. Use SPSS to produce two two-variable crosstabs for your hypotheses. Remember to put the independent variable in the column, the dependent variable in the row, and to request the appropriate percents (column) for your table.
5. Interpret the tables which means to summarize the results and explain whether or not the hypotheses were supported. Use the percents from your table to help you interpret the tables. Remember that you don’t want to make too much out of small percent differences because it could just be sampling error. Again, use the five percent rule. If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it. Make sure that you compare your percents in the opposite direction to the way they sum to 100. If you have set your tables up correctly, your percents should sum down to 100 and you should compare the percents across. Try to write two sentences to interpret each table. The first sentence should summarize the pattern of the percents. The second sentence should use the percents to illustrate the pattern. Then you should write a third sentence indicating whether the data support your hypotheses.
Part 8a. Gender -- Go through the five steps for SEX. 
Part 8b. Age – Go through the five steps for AGE2.
Part 9. Conclusions
What did you learn about how much confidence people have in various social institutions?
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Which variables help us explain how much confidence people have? Are some of these variables more strongly related to how much confidence people have? Which ones? How do you know?
Summary of your paper
Here is what you are going to hand in for your first paper.
1. From Part 1, hand in the frequency distributions for the variables CONFED, CONLEGIS, CONARMY, CONBUS, CONLABOR, CONSCI. How were the valid percents calculated for CONBUS? Be sure to show your calculations (i.e., write out the arithmetic calculations).
2. Using the data from the frequency distributions in part 1, create a table in Word showing 
what percent of respondents said they had a great deal of confidence, only some, and hardly any in each of these six institutions. Which institutions do people have more confidence in and which do they have less confidence in? Use the percents from the table you created in Word in your answer. Why do you think people have more confidence in some of these institutions and less in others?
3. There is nothing to be handed in for Parts 3 and 4.
4. From Part 5, hand in the crosstabulation (from SPSS) for PARTYIDR and CONFED and your interpretation of the table. Be sure to include the appropriate percents. Write two sentences for each variable describing what the table tells you. One sentence should describe the pattern of the percents and the other sentence should use the percents to illustrate the percents. Don’t forget to discuss whether the table supports your hypotheses. Also, be sure to discuss whether the Independents are closer to Democrats or closer to Republicans in their confidence in the Executive Branch? Remember to cite the percents in your answer.
5. From Part 6, hand in the crosstabulation (from SPSS) for INCOME06R and CONBUS and your interpretation of the table. Be sure to include the appropriate percents. Write two sentences for each variable describing what the table tells you. One sentence should describe the pattern of the percents and the other sentence should use the percents. Don’t forget to discuss whether the table supports your hypothesis.
6. From Part 7, hand in your analysis for ATTENDR and CONSCI. See the assignment for the five steps you should follow. Don’t forget to include the crosstabulation from SPSS.
7. From Parts 8a and 8b, hand in the five steps as described in Part 8 for both SEX and AGE2. Don’t forget to include the crosstabulations from SPSS. Remember that you go through the five steps outlined in Part 8 once for SEX and then again for AGE2.
8. From Part 9, hand in your conclusions. What did you learn about how much confidence people have in various social institutions? Which variables help you explain why some people have more confidence and others have less confidence? Are some of these variables more strongly related to confidence? Which ones? How do you know?
Be sure to include all parts of these instructions. 
Notes on Preparing your Paper:
Your paper should be prepared using a word processor. Double space, except for the tables. Use one-inch margins and 12-point type. Number the pages. Organize the paper by parts. Use the part number as the heading for each subsection. Please do not put your paper into any type of binder. Just staple your paper together.
The papers will be read and graded by the instructor using several criteria. These criteria include
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the extent to which the papers use and show understanding of how to develop and diagram arguments and how to construct and interpret tables. Other important criteria are the extent to which the paper is logically organized and the quality of your writing.
8
